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3x

lim f (x)    

1 (6  2 (6  3 (3  4 (3  

13-  1
2x

cosxlim
sin x

    

1 (2
4  2 (2

4  3 (2
2  4 (2

2  

14-     
2 2

4
3 2

a(cos x sin x) , x
f (x)

xa cos , x
  2x           

1 (1
6  2 (1

3  3 (1
6  4 (1

3  

15-      x 2 25 25 5xx cos x
f (x)

    
0x

lim f (x)   )  f (x)     

0x  (.  

1 (1
3  2 (4

5  3 (1  4 (2
5  

T

y

x
T

P

O

`

-0/8

400 3
 

www.konkur.in

forum.konkur.in



1   98          : 4  
  

16- 
2 2

0
1 1

1x

| x | | x |lim
cosx

    

1 (2  2 (4 3 (2  4 (  

17- 
2

1

1 2 1
1x

x xlim
x

   

1 (1 2   2 (2 2   3 (2  4 (2  

18- 
0

2 4 1
3x

sin x sin x tan x tankx klim
kx x

     k    

1 (1
4  2 ( 3 (1

4  4 (1
2  

19- 
4

1
14x

tan xlim
(x )(tan x )

    

1 (1  2 (1  3 (4  4 (4  

20- 
10

0
2 1
2 1xx

( )xlim    

1 (1  2 (512  3 (  4 (  
  

    1 :  92  111 
21-      

1 (              .  
2 (              . 
3 (                .  
4 (          -  .  

22-    . . . .   . . . .  
1 (  -          .  
2 (  -        .  
3 ( -       .  
4 ( -        .  

23-      . . . . .   
1 (              .    
2 (             .  
3 (                   .    
4 (            . 

24-             . . . 

1 (  .  
2 (    .  
3 (  .  
4 (          .  

www.konkur.in

forum.konkur.in



1   98          : 5  
  

25-   . . .   . . .            . 

1(   -     
2(  -   

3 (  -    
4(  -   

26-                . . .   
1 (        .  
2 (        .  
3 (           .  
4 (       .  

27-        . . .        . . .    .  
1 (      -     
2 (   -      
3 (      -      
4 (      -     

28-              . . .   
1 (        .  
2 (           .  
3 (                   .  
4 (               .  

29-                . . .      . .  . . 
1 (  -        .    
2 ( -       .  
3 ( -         .    
4 (  -       .  

30-  pH  2/7     . . .  . . .   pH   . . ..  
1(H  -   -     

2(HCO3  -   -    

3(H  -   -     

4(HCO3  -   -   
  

    2 :  151  178 
31-           . . .  

1 (           .  
2 (          .  
3 (         .  
4 (       .  

32-                       
            

1 (6  - 3  2 (10  - 4   3(15  - 5  4 (3 - 2  

( 

( 

www.konkur.in

forum.konkur.in



1   98          : 6  
  

33-           2                   .
              

»             .. . «  
 (         .  

 (      .  
 (         .  
 (3   .  

1 (1  2 (2  3 (3  4 (4  

34-   . . .         .  
1 (     
2 (    
3 (      
4 (  A    

35-                             .  
                         

                

1 (1
3   2( 3  3 (3

11   4 (11
3  

36-                    .            
                  

1 (  2 (25  3 (50  4 (100  
37-          )             (    .

        
1 (          .    
2 (           .  
3 (           .    
4 (            .  

38-       B         1
8  .        

      
1 (3  2 (4   3 (5  4 (6   

39-            . . .    » « » «    . . .    
  

1 (   -         .  
2 (   -        .  
3 (     -        .  
4 (     -        .  

40-          »      . . .     . . .   . . .   . . .  .«  
1 (  X   -  -   -   
2 (   -   -  -   
3 (   -   -  -   
4 (  X   -   -  –   

www.konkur.in

forum.konkur.in



1   98          : 7  
  

 2 :  96  117 
41-        10        .    2cm          

         310 13 6N gg / )
kg cm

 3(  

1 (4  2 (8  3 (16   4 (24  
42-           70         75              

120mmHg        .        

 310 13 5N g(g , / )
kg cm

   

1 (/0 2  2 (/2 3  3 (/1 4  4 ( 3  

43-                  31 10g N( ,g )
kgcm

 

1( 59 10      

2 (38 10  
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9 -  »1«  ) ( 
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64 64 8 4 402
36 36 6 3 3

tantan tan TT  
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2 2 20 0 02
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     0
0       :  
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2 40 02
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Μ
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3
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f (x) ( lim f (x))x

x

  

33 6 3 6 122
5 15 3

3
3
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L

L L
lim f (x)
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---------------------------------------------  

13 -  »1«  ) ( 

      1 cosx   .  
21 1 1

2 1 2 1

2 2

cosx cosx cos xL lim ( ) lim
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| sinx |lim
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1
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1 2

42 2

sin x sin xL lim lim
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---------------------------------------------  

14 -  »2«  )  ( 

1 1 21 2
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2 1
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2
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25 5

5 20 52 05 5
0
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xx lim
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5 2 2 20 5 5 500 0

lim ( x )
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lim f (x) lim f (x) x
x x
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2

1 20
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2 2 21 1 2 4210 0
2

x x xlim lim
cosxx x x
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2 11 2 1
11 1

xx xlim lim
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1 2
1
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2 2 

---------------------------------------------  
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2

0
1 2

1 0
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kx xx
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k x x x xx

  

1 4 11 2 11 1 1 3
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k k k
  

12 2 24 4 1 3 4 1 4k k k k k k  
1 1 1 1 02 2 2 2k , k  

---------------------------------------------  
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   1
1 4

tan x tan( x)
tan x
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1 4
1 4 44 4
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  4 4 1
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tan( x) x t tantlim lim
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         .  

----------------------------------------------  

23 -  »3«     ) ( 

               
             .  

----------------------------------------------  

24 -  »4«     ) ( 

               
         .  

----------------------------------------------  

25-  »2«     ) ( 

) (   ) (      
                 
    .          

        .  
----------------------------------------------  

26 -  »4«     ) ( 

                   
       2 -7          

 .    

27-  »3«     ) ( 

      H        
        )  (   )   (  

   .  
----------------------------------------------  

28 -  »3«     )  ( 
      .         

    NaCl         .  
----------------------------------------------  

29-  »4«     ) ( 
                

 .               
       .  

----------------------------------------------  
30-  »1«     ) ( 

pH     7 4/   .        7 2(pH / ) 
   H      pH  .  

----------------------------------------------  
    2  

  
31 -  »2 «    )  ( 

          :  
: Pp Pp  

1 2 1
1 4 4 4(F ) : PP, Pp , pp  

             )  pp (
 . 

----------------------------------------------  
32 -  »3 «    ) ( 

   n             
      1

2
n(n )     

     n        :  
          5n  1 1

2 2
n(n )n  

                    
                  

1
2

n(n )      .  

    5 5 1 152
( )  

                    
            5n . 
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33-  »3 «    )  ( 

               
  »« » « » «   . 

----------------------------------------------  

34 -  »4 «    ) ( 

  A     AI i  A AI I      
      . 

----------------------------------------------  

35 -  »2 «    ) - 96( 

P : AaBbCc AaBbCc  
              

   :  

( )1 1 1 32 3 4 2 2 8  
 2              
 3         .  

               

:  1 1 1 1
2 2 2 8  

       :  
3
8 31
8

 

----------------------------------------------  

36 -  »4 «    ) - 95( 
     :  

A a AP : z z z w  

1 A A A a A aF : z z , z z , z w , z w  

                                              
       :  

A A aF : z z z W1  

A a AF : z z ,z W2  

     .  
---------------------------------------------  

37-  »2 «    )   - 90( 
              

(Z Z )B B       )   Z Wb ( 
               

(Z Z )B b       )   Z Wb ( 
:  

ZBZb  ZbW  

ZbZb + ZBW+ ZbW + ZBZb  
                . 

----------------------------------------------  

38-  »1 «    )  ( 

     B 1
8     

    B 1
4  .       

        B  1
4   :  

A B AI I I i A B A BI I I I  A BI i I i

----------------------------------------------  

39 -  »1 «    )  ( 

                 »  « » «
 :       

    (P)aa Aa  
1 1

1 2 2(F ) Aa aa  

                     
                     

        .   :  
 »2« :        .  
 »3« :        .  
 »4« :     . 

----------------------------------------------  
40 -  »1 «    ) ( 

 »1« :    X       
              

   )      .(  
 »2« :           

      .  
 »3« :           

   .  
 »4« :     X        

       . 
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41 -   »1«  )     - 88( 
          :   

  F FP gh
A A

  
2

4
DF ghA , A  

22 2 10 13600 3
110 10 3

kgD cm m ,
m

Ng , h m ,
kg

  

2 23 2 10113600 10 10 44
( ) ~F F N  

----------------------------------------------  

42 -   »3«  ) ( 
            75     

  120mmHg   .         
  :  

  
 

 

F PAW Fd W PAd
P P gh

W ghV
V Ad

  

3 3 613 5 10 10 120 10 75 10 1 2~W / W / J  
                   

70      :  

W/P/
t

W
P 4160

7021  
----------------------------------------------  

43 -   »4«  ) ( 
                   

         :  
040 30 20h sin cm  
20 20 40 31000 10 0 4 4 10h cmP gh P / Pa  

---------------------------------------------  

44 -   »2«  )  ( 

      h      :  

30 0 3 0 00
P P gh P P P P gh
P P

  

52 2 10 1000 10 200P gh h h m  

45-   »2«  ) ( 
             :  

3 410 10 5 5 10P gh Pa  
60 130 0 3 0 5 0 0052 2r cm / m , r cm / cm / m  

    r   r       .  
2 2 2 2 23 0 3 0 27A (r r ) r ( / ) / m) : (  

          :  
45 10 0 27 13500F PA / N  

----------------------------------------------  
46 -   »2«  ) ( 

   m
V

            

 3(V a )          :  
9 2163 216 39 24

g ,m g
m cm V cm
V V

  
3243 3 324 2 3V cmV a a a cm  

----------------------------------------------  
47-   »1«  ) ( 

                   
        .           

:1200 31200 1
m

V V cm  

                    
 :  

5600 5600 3800 7 
V cm  

       :  
31200 8000 400   V V V cm  

----------------------------------------------  
48 -   »3«  )  ( 

   FP
A

  P gh    :  
10

45000 10 20 10
0 1 10

FF PA F ghA h
gA

h / m h cm
  

----------------------------------------------  
49-   »4«  ) ( 

1 2 2 1 20 2 1 2 1P P / P P / P ( )  
      1P  2P              

     :  
150 1 2 501 2 2 2

( )P P cmHg / P P  
0 2 50 2502 2/ P P cmHg  

1 2 250 3001P / cmHg  

     

                   :   h  
 :    
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50 -   »1«  ) ( 

               .:  
1 21 2 1 2

F F
P P

A A
  

----------------------------------------------  
 3  

 

51-   »3«  )  - 67( 
        
         

     C  . 
---------------------------------------------  

52-   »1«  ) ( 
          :  

300712 10 0 50 0 4
44 5 10 4 5

NB I B /
/

B / T / G

 

----------------------------------------------  
53 -   »1«  )  ( 

         
       

  .         
      

           
          

       
  .  

  090mg F qvBsin ,B  
60 06 10 30 10 4000 5/ B B T  

----------------------------------------------  
54-   »2«  )   ( 

                 
1(B )   O )  (             

                
2(B ).  

              
   :  

  10 0 10 1 11 2 1
I R cm / mB
R

  

    
74 10 5 510 0 11 2 0 1B T / G
/

  

  

274 10 10 50 2 8 10 0 82 2 2 0 052
NI

B T / G
R /

  

 2B    1B         :  
0 8 0 1 0 71 2 2 1B B B B B B / / / GT T  

        2B    .  
---------------------------------------------  

55-   »2«  ) ( 
         :  

0 02
22 4

N INI RB B
R R

  
300 3

74 10 9 15 0 150

cm m
T.m ,I A,R cm / m

A

  

74 10 3 9 3 9 33 310 102 15 15 254 0 15
B

( / )
  

512 10 T 
----------------------------------------------  

56-   »2«  ) ( 
              

               
         .        

 I    x   :  1 2| B | | B |  
0 1 0 2

2 21 2
I I
r r

  

50 0
2 2 30

I I
x ( x)

  
  

1 5 530 x cm
x x

  

----------------------------------------------  
57-   »2«  ) ( 

            
              

       .  
F W qvBsin mgB  

19 2 03 2 10 2 10 90/ v sin  
203 2 10 10 50 m/ v

s
  

              
       .  

---------------------------------------------  
58 -   »3«  ) ( 

              
   P    .       

    P         :  

FB

B

mg

v
q

B1

r x1= r x2=20-

I I1= I I2=3

B2

52I I 

302r x 
2B 1r x 

1B 1I I 

v
غرب→

F
B

B

mg

→

→
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187 52 10 12 101 23 100
242 7 52 10 12 102 24 10

| B | T
I

B
r | B | T

  

2 2 1 21 2
|B | |B || B | | B | | B |T  

42 1 2 2 101| B | | B | / TT 
----------------------------------------------  

59-   »4«  ) ( 
         :  
74 10 100 2 3 14 30 10 1022 2 12 56 10

NI /B B T G
R /

 

----------------------------------------------  
60 -   »2«  ) ( 

        :  
9090 0 02 7502 2 3 0 02

L L m,r / m~ ~ ~N N N
r /

  
             B  

   :  
40 140 90 4 360
360 9

V V V ,RI I I A
R

  
          4   

 90     90 4 360R  .  
10 2 75090

750 17 44 3 10 5 100 2 9

/ m ,I A,NNB I

~B B T
/

  

---------------------------------------------  
 2  

  

61 -  »3«      ) ( 
        4CH     

        .    
             

     .          
)      (   .  

----------------------------------------------  
62 -  »4    «  )  ( 

         ( OH)  
     .  

C CH

H O

H

OHاس!د است!#

  
C

O

H H

فرمالده!د

  

C O

C C

C C

H

OH H

OH

H

H

HO

H OH

CH2OH

گلو(ز

  
----------------------------------------------  

63 -  »4  «   ) ( 
 2SO         120  

 . 3SO           
120   .  

---------------------------------------------  
64 -  »2    «  ) ( 

 (a)    (b)  .  
 ) :(     (b)  .  
 ) :( (a)        (b) 

  .  
 ) :( (a)     .  

---------------------------------------------  
65-  »2    «  )  ( 

      :  
  7  C O  5  

C C        C C 
      .  

6 12 6C H O     2CH O 
       

)  (  ) ( .  
2CH O  :   3CH COOH  :     
2CH O  :                     2CH O  :    
2CH O  :                6 12 6C H O  :    

----------------------------------------------  
66 -  »1    «  ) ( 

0180 O N O
+ 22NO :  

0 0 120 180
 

N

OO
 22NO :  

  0120 
N

OO

−

 22NO :  

2 2 2NO NO NO  
----------------------------------------------  

67-  »1  «  )  ( 

       :  

9cm

15cm

12cm

P

I1 I2

B1B2

BT

5cm 

3cm 
2B 1B 

BT 
4cm 

2I 1I 

C O

C C

C C

H

OH H

OH

H

H

HO

H OH

CH2OH
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C

CC

C

O

H

H

H

N

HH

H
H
H

C

C

H

H

H

O

  
   66 11 2C H O N         2 
            4  

     .  
---------------------------------------------  

68 -  »3    «  )  ( 

               
 .      :  

B

H

H H

N

O

−

O

O
Sn

ClCl

  
44CH    3NH      .  

----------------------------------------------  

69-  »3    «  )  ( 

 » « » « .  
       15  3NH    

              
               
          .    

  3NH         3SbH  
  .  

----------------------------------------------  

70-  »3    «  )  ( 

              
.         :  

    2(N O)    
..

: :( O N N ).. 

  8    .       
              

  –         .  

 3  
  

71-  »3 «      )  ( 
              .

      .  
              

)           (. 
 »3 «  .  

72-  »3«  ) ( 
  ( H  S         

  .       .  
  (       0G  .

0H T S  . 0H  0( T S)  . 
T S H  T S | H |.  

  (G        .    
    0 0( S , H )    G  

       .  
  (G          
    . 

----------------------------------------------  
73-  »3 «      )  ( 

       :  

 2 2 22 2Na(s) H O(l) NaOH(aq) H (g)  

   H   S        

           

    . G  .  

G H T S

( ) ( )

  

      T S    T S    . 

     G    . 

----------------------------------------------  

74-  »3 «      )  ( 
 :  

H      S       

 )    .(   T S     

   G               

          )   .( 
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  S      S      

» «            

)  .(  
---------------------------------------------  

75-  »1 «      ) ( 

        :  

 2 2C(s, ) H O(g) CO(g) H (g)  

    2H    2H O(g)   

2422
kJH H Of mol

 .     CO 

          CO(g) 

 . 110 5H CO /f .      H  

      .  

 2 2H H CO(g) H H (g) [ H H O(g) H ( )]f f f f
110 5 0 242 0 131 5/ [ ] / kJ  

200 130 190 6 134   
JS S S [ ]
K

  

0 131 5 0 134G H T S / / T  

0981 3 708 3T / K / C  

    981 3/ K  0708 3/ C    . 

----------------------------------------------  

76-  »2 «      )  ( 

                
          .   3 

    . 
----------------------------------------------  

77 -  »2 «      )  ( 

127 12 5 125 1 63 5
g / kJH kJ.mol

mol / g
  

   H H H  

125 910 935  H H kJ.mol  

78-  »4 «    )  ( 

  5atm        0 03/   

    100            Ar 

       :  

1 40 03 7 5 1040
mol Ar?mol Ar / g Ar / mol Ar

g Ar
  

   :  

 »1« :    4CH     2N  

              .  

 »2« :    NO       

     NO        .  

 »3« :            

          . 

----------------------------------------------  

79-  »1 «    )  ( 

105   A  150         

   100       :  

105100 702 150 2
g A?g A g H O g A

g H O
  

   A   050 C  70    

    030 C    :  
105 21100 562 150 2

( )g A?g A g H O g A
g H O

  

70 56 14g      050 C  030 C  
----------------------------------------------  

80-  »3 «      )  ( 

3 3
1 6

KNO (s) K (aq) NO (aq)
/ mol

  

1 1013     1 6 80 8 3 2 1
molKNO g/ mol / gKNO

mol mol
  

  1023KNO g   300    . 

102 80 8 21 23KNO : / / g      
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